EARAROBEEIERT — 2 N— IBISH —F

20185F8A8H (K) 9mPi5I2H

meE PO2Ex Y AFEKE Y 7R2E \ (xE] & \ (Sampl — | & (/) 10000 &
[A&4£] 1 7% :500,000  ~ 23#&:100,000  ~ 33#&:75000 M ~ 43#%:50,0008”  53&:25,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= o t 2 | EBEZ 1:03.1 3-3 38.2| — 3 432 | /MNEFL (AtiEE)
118|8|71—XE-F 54.0 =) ERETTEN.
LihxrbeFx) BNZI ARy —H BR&EH T v KZv T - Typ—L
o N SUEHAT :03. - . — WMARRER (AtimE
2 6 Ry—L1> % 2 = T 1(10/32)2 1-1 38.7 1 (4522) rﬁ;';g% e
L:x>vvH/xt% B:AHI/UL IE=e]
. - N S EEA -03. - . - ioE— (deiss)
3055 |k e it 2 =n 1 (023>6 1-1 39.1 2 ?gga ;‘;’g—’é{E{‘ﬁ B
R:hE—X2—F— B:T7H-—F it e
I 4 2 | BHME 1:04.2 4-4 38.8| — 7 418 | EEEIESL (dtimiE)
4 2 NSRS 54.0 3) (-2) JKERZ B =
LT v TRy b BT —=W¥Tp =E R
SN s 2 | AlE 1:04.3 4-4 38.9| — 5 460 |EARHKR (tiEE)
5 3| 72> 54.0 (7€) +2) HEES -
R:Z28—J>70-X B:FILINYTH Il #R—
5 RETS :05. - . - HEE (dtEE
6 4| BIFVIH—IL a2 80 1(045)2 = 5.4 4 :‘; FETEE e
LNy v =l B:214%3I21-X EFFL BRI
=] = EEXKX : — — NE T (dtEE
ARIRAEL R it 2 ik 1.(0563.2 6-6 40.6 8 (4_184) }E}%Eg Bl
R:xdrivar B EL—-> UN:bae]
“ o S s 2 | BRERESE 1:06.3 8-8 40.1| — 6 408 | BHREZ (dbiEE)
8177 Y1) —I\NEX X 54.0 (1/2) (-4) A& =
R:T7—3IUT> B:XATINERZR AT
® I —F—@EBIERL
13—7—
23— —
3a—+— (5,6),8,(2,3),1,4,7
43—F— (5,6).8,(2,3),1,4,7
[ RN
B OB 8 360M 714K 6-8 140H B E 6-8 350M &R 5-6-8 180M
7 B 8 100 5-8 oM | | /& B 8-6 820/ | | EE 8-6-5 1,870
6 1004 5-6 120H
5 1009

ABICOVWTRDTEEERROODE. TR LIV,




